a(0 z) (um) tor PV Ratio a(0y) (um) for PV Ratio (0 X) (um) tor PV

Ratio

£

=
3

< 10°E

=

S)

10°

. i N | N | N | N

R B T :

c b J&+; P
L SR o R R # -----
050 =I5 -10 5 0 5 10 15 20

Vertex z (cm) Vertex z (cm)

a(0 x) tor merged vertices (um)

Ratio

=
o
w

10°F

..................

0

5 10 15 20
Vertex z (cm)

10%E:

10

10?

o + o
T F
X 1
I
201510 -5 0 5 10 15 20 5 10 15 20
Vertex z (cm) Vertex z (cm)
£
=
N
o
©
10

SenpE s me
______ i 005 - u# l

Ratio

..................

5 10 15 20 95515 -10 5 0 5 10 15 20
Vertex z (cm) Vertex z (cm)

DUM VUUUJ._I'(UUUUUUUUL_UIODaI_CmS_SWJ.UUU[ime RECU

S DéM‘VOOOl_ROOOOOOOOl_GIObal_mkthNewOLDlOUOtlme_RECO

—— DOM~V0001_R000000001—Global —mkFitNewTEST1000tim&_ RECO
= 10°
€ F-
2
; L.
s |
S R 10°E

0(0 y) tor merged vertices (Um)

Ratio

0(0 z) tor merged vertices (Um)

Ratio

10?

10 15 20
Vertex z (cm)

10°

10°E

0.5°

550 =15 =10 -5

5 10 15 20
Vertex z (cm)



	Contents
	Page 1


